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2022
M.Com.
4th Semester Examination

STRATEGIC MANAGEMENT AND
CORPORATE GOVERNANCE
PAPER--COM-401
Full Marks : 50

| Time : 2 Hours
The figures in the margin indicate full marks.

Candzdates are required to give their answers in their
own words as far as practicable.

Mlustrate the answers wherever necessary.

Unit - I

(Marks : 20)
1. Answer any two questions : ' 2%2

(a) What is strategy ?
{b) Draw the TOWS matrix.

{Turn Qver)



(c) Write down the different components of business
environment. '

| (d) What are grand strategies ?
2. Answér any two questions : 2X4
{a) Explain the VRIO analysis given by Barney.
(b) Write a short note on benchmarking,.
(c) Draw the BCG matrix. How is it useful ?. 2+2
{d) What do you understand by vertical and horizontal
integration ?
3. Answer any one question : - 1x8

(a) Describe the issues priority matrix. What is its
importance ? 6+2

(b) Discuss the Porter’s Five Forces model.
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Unit - II
(Marks : 20)
4. Answer any two questions : ' - 2x2

(a) Mention any two conditions that would make a
non-executive director an independent director

too.

(b} Write the CSR expenditure clause as mentioned

in Indian Companies Act.

(c) Mention any two differences between an

executive director and a non-executive director.

(d) Explain the structure of dual board.

5. Answer any two questions : ' 2%4

(a) Discuss about composition of the Board of
Directors with the legal provisions of executive

non-executive proportions.

(b) Which issues can be considered to be the

qualitative changes in the modern concept of
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corporate governance from the erstwhile

management of companies in general ?

{c) Write a short note on SCORES.

(d) Write any four distinguishing features of

corporate governance in India.

6. Answer any one question : o 1x8

{a) Why is independence of auditors so important in
modern corporate governance ? Discuss in details.

(b) Discuss in brief-a few rights that the minority
shareholders can enjoy as per the provisions of the
Indian Companies Act.

[Internal Assessment — 10}

———
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10

The current selling price is Rs.100 pér unit.

" At 60% working, material cost per unit
increases by 2% and selling price per unit falls
by 2%. At 80% working, material cost per unit
increases by 5% and selling pﬁce per unit falls

by 5%.

Estimate profits of the factory at 60% and 80%
‘working and offer your comments. 2+6

{ Ihtemal Assessment— 10]

T
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Standard output for 7
40 hours per week 1400 units

Standard Fixed Overhead Rs. 1400
Staridard Variable overhead Rs. 1600

Actual output 1200 units -
Actual hours worked 32 hours
Actual fixed Overhead Rs. 1500

Actual Vax_‘iable QOverhead Rs.1800

Calculate necessary variances.

(b) (i) Briefly state the circumstances in which flexible
budget is prepared.

(it} A factory is currently running at 50% capacity
and products 5000 units at a cost of Rs.90 per
unit as per details below :

Material Rs. 50
Labour 15
Factory Overheads , 15 (Rs. 6 fixed)

Administrative Overheads 10 (Rs. 5 fixed)
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(b} 100 skilled workmen, 40 Semi-skilled workmen and
60 unskilled workmen were towork for 30 weeks
to get a contract job completed.

The standard weekly wages were Rs. 100 Rs.60 and
Rs.40 rcspectlvely the job was astually completed
in 32 weeks by 90 skilled, 35 semi- -skilled and 100
unskilled workmen, who were paid Rs.120, Rs.70
and Rs.30 respectively as weekly wages.

Find out'thc labour cost variance, labour rate c.
pay variance, labour mix variance and labour

efficiency variance.

(c) Enumerate the various factors which should be
considered while preparing the sales budget and
production budget. ‘

(d) Write a short note on Zero base Budgeting. |
6. Ansiver any one question : ' 1x38

(a) In department X the following data are submitted
for the week ended 31st May, 2022
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Required :
(i} To calculate present cost and profit ;

(i) To calculate cost and profit after diversification
plan is implemented.

Unit - II
(Marks : 20)
4. Answer any two questions : 2%2

(a) Write the reasons of Material Cost variances.
(b) Mention the reasons of labour cost variances.

(c) Whatdoyoume: L Costdriversin activity based
costing ? '

(d} What do you me:= v Standard Cost ?

5. Answer any two questi. t 2x4

(a) From the following t rmation of a company,
calculate the materi:  -iances

Material Standard )  Actual

QOty. Rate | Am. Oty. Rate | Amount
{Units) § (Rs) )\ (Rs, _ (Units)| (Rs) (Rs.)

A 500 6 300¢ 7000 5 35000
B 400 9 360( 5000 | 10 - 50000
C 700 7 4900 1 10000 6 . 60000

1600 11500 ‘_ 22000 145000
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(b) A company manufacturers 3 lac units of Product P

' and 2 lac units of Product Q p.a. The following
figures are extracted from the cost books related to

the cost of above products.

Sales value Rs. 42 lacs
Direct material Rs.8 lacs
Direct labour Rs.10.5 lacs
Factory Overhead Rs.10.5lacs

Administrative and Selling overhead Rs.6.0 lacs

50% of factory overhead and 50% of administrative
and selling overhead are variable. The selling prices
of P is Rs. 10 p.u. and Q is Rs. 6 p.u. The direct
material and labour ratio of product Pis 2 3 and
for Q is 5 : 6. For both the products the selling
price is 400% of direct labour. The factory overheads
are charged in the ratio of direct labour;
administrative and selling overhead are recovered
at a flat rate of Rs. 1 per unit of product P and
Rs. 1.20 per unit of product Q.

Due to fall in demand of the above products the

" company has a plan to diversify and make new
product R using 40% of the present capacity. It
has been estimated that for R direct material and
direct labour will be Rs. 1.25 and Rs. 1.50
respectively. Other variable cost will be same as
applicable to product P. The selling price of R will
be Rs. 8 and production will be 2.5 lac units.

Assuming that balance 60% capacity is used for
manufacturer of P and Q
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3. Answer any one question : ' 1x8

(a) The following data are available in respect of
Process-I for the month of May, 2022 :

Input of Material to process-I is

4200 units valued at - Rs.23360
Direct labour Rs. 3860
Production Overhead Rs. 7860
Transfer to Process-2 is 4100 units

Normal Process loss is 5% of total
input and Scrap rate is Rs. 2 per unit _

Stock on 1st May, 2022 :

800 units valued . Rs. 3900
Degree of completion of opening stock :

Material 60%

Labour and Overhead 40%
Stock on 31.05.2022 : _ 700 units
Degree of completion of closing stock

Material 80%

Labour and Overhead ' 50%

You are required to calculate

{1} Equivalent units of chfferent cost elements
using FIFO basis.
(i) Cost per unit of each element of cost.

(i) Value of output transferred to process-2.
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The process costs per month are :

Direct material Rs. 150000
Direct Labour Rs. 120000
Variable overhead Rs. 130000
Fixed overhead Rs. 100000

The loss in process is 3% of input and the output
ratio of A and B is 1 : 2. The selling prices of two
products at the point of aplit off are : A Rs.20 per
kg and B Rs.25 per kg.

A proposal is available to Z for quality upliftment
by mixing it with other purchased material. The
entire current output of the plant can be so
processed further to obtain a new product“X”: The
price per kg of X is Rs. 24 and each kg of output of
X will require one kilogram of input A. The cost of
processin A into X (including othér materials) is
Rs. 160000 per month.

You are required to compare nionthiy profitability
statement both on the existing and after further

’ processmg

(d) Ei{plain the significance of break even chart in
Marginal Costing.
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The following information is available :

{i) Cost
' Accounts
(Rs.)
Opening stock of
Raw Material 5000
" Closing Stock of
Raw Material 4000
Opening Stock of
Finished Goods 12000
Closing Stock of
Finished Goods 14000

Financial
Accounts
(Rs.)

5500

5300

15000

16000

' (ii) Dividend of Rs. 1000 was received by the

company.

(iii} A machine with net book value of Rs. 10000
was sold during the year for Rs. 8000

(ivy The company charged 10% interest on the
opening capital employed of Rs. 80000 to its

process cost.

You are required to determine the profit figure was

in the cost accounts.

(c) Z Company5s plant processes 120000 kg of raw

material in a month to produce two products viz. A

“and B. The cost of raw material is Rs. 15 per Kg.
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Normal loss of material Rs. 2000,

(b) Write any two non-cost factors to br considered in
make or buy decision in Marginal costing.

(c) Write any two differences between Main Products
and by Products

(d) Write any two reasons of differences between Profit
" as'per Cost accounting and profit as per financial

accounting.

2. Answer any two questions : 2x4

{a} Ilhistrate the effects of the following on the
breakeven point and profit-volume ratio and Margin
of Safety under Cost-volume-Profit analysis ir

Marginal Costing.
(i): Decrease in variable cost per unit.
(i) Increase in the Selling price per unit.
(b} A company maintains separate Cost and financial

Accounts and the costing profit for 202 1differs from
the profit reported in the financial accounts. The

profit in Financial Account shows Re. 50,000.
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